EARAZROREIERT — 2 N—XBISY —F 20165E9F29H () 12@EIF95U6H

Nl 2 LSRR YR 2K (w8 | mEmml - |5 0 o s
[A&4] 1 % :400,000 @ ~ 23#%&:80,000H” ~ 33#&:60,000H . 43#:40,000H 5 7 :20,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o R R BE :02. — . — AISH (ted)
1 N RA I = o2 540 1(0_2)0 ¥z 5.8 ! :1_224) [€5)) 2 Hﬁ:;“/:ﬁtg
g/ oovrTa BiELTHIN=L 11— NETHIS
N RETS :02. = . — aAEE (dtied
205l | FTV=—T*AUAh> i 2 5.0 1(,(\)2*? - 55 ! ?_420) FIE= i
R:FrU—9UF9> B:FrU—N—/N— BET 7 — L
o o S EEA :02. — . — Bzag (dtimE)
3155 IACPAY;! % 2 o 1(022>4 6-5 37.2 3 ;1_522) E;”;?E% B8
LHv—N=—F BXvIALFr> Bl #r—
(TS . 4 2 | fEAARER 1:02.5 2-2 37.9| — 2 448 | lOE— (dbiEE)
40 7 A 2 2 54.0 (3/4) (+2) RIS =
R:T77ZXVIT7 B:LAFq7aAT4 DD HMIG
> K 4 o2 | BREZ 1:03.0 4-4 38.1| — 6 306 | 1EFERER (dtimiE)
5 1 L7772 K= 54_”0 (2 1/2) +2) PEFBE =
LY Ny THL BiASLYE R HT 0 A s
= s 2 | et 1:03.6 6-5 38.4| — 5 456 | /NEFE (dbimd)
6y 3| 7T —H#RT1L 54.0 @) we | B VLTI
LT RIA YTy IR B IA—ILIIL RS JO—Y—T7—L
4 2 | KEHH 1:03.6 4-5 38.7| — 7 450 | A EIEF (dtimE)
7 N 4 Y~/ %t% 54.0 (742%) (-p) |HOEAE =
RR=HNE BHATAU—K o egE
S — s 2 | BRERESE 1:03.7 11-10  [37.2| — 9 430 | #AMBL (AbiEiE)
gl7lo|E—E-—77HVUF< 54.0 (o6 oy | ) s
LE-E-HILEr B:TF7-I-)=7F # =
N X7 5 . _ _ T
oo | "I/ UFF R foo2 | WABHE 1 65 | 38.5 8 (4088) PEARBER (L)
R:F15>8) B:¥AL2 R RE2— BL A
> = i 2 | BEEHY 1:05.0 9-9 39.3| — 1 402 | WHEFIR (biEE)
10812 Y=Y =T4 54.0 ©) o | B k@&
L:ZX—N=k—%v b B:wXY-TL—> Z hANY =T 1 =V K7 7 — Ltk
s 2 | FERE 1:06.2 10-10  [40.0| — 10 | 406 |f1EEEXRPA (dtimiE)
1117110 T4 —=X7Ib—=Jb 54.0 (6) (-10) TREHEA .
ixhorry BiLIS—F 41— Yriva G
) BT HH = - - = | =] - [meE- atmw
| 8|11| T—ATATATF 25 () (<) |Hmiigs o
LAY/ RI47T B:ehvAEX BEFHS
@ 1—F—@&BIEf
13—7—
23—7F—
30—7+— 6,7,8,(1,4),(2,3,5),12,10,9
43—F— 6,(7,8),1,(2,3,4,5),12,(9,10)
[ RN
B OB 8 420M 714K 6-8 250M e & 5-6 220M &R 5-6-8 890H
8 B 8 1704 5-8 430MH B & 6-8 8604 JEH 8-6-5 4,370/
6 130M4 5-6 370M B H 8-6 1,140/
5 210M

ABICOVWTRDTEEERROODE. TR LIV,




